
A-A

J. Ridders

Ontw./Design

Get./Drawn
J. Ridders

Beschrijving / Description in:     http://heetgasmodelbouw.ridders.nu

J
R

Units: mm

Format: A4

Scale: no scale

Org. date: Apr-25-2004

Update: Oct-17-2007

Blad/Sheet: 1 van/from 5

Koffiekop Stirling

Coffee cup Stirling

A

A



J. Ridders

Ontw./Design

Get./Drawn
J. Ridders

Beschrijving / Description in:     http://heetgasmodelbouw.ridders.nu

J
R

Units: mm

Format: A4

Scale: no scale

Org. date: Apr-25-2004

Update: Oct-17-2007

Blad/Sheet: 2 van/from 5

Koffiekop Stirling

Coffee cup Stirling

n110

n10
0

n96

n105

60°

5

2.
5

1.
5

n4.0 -1.5 DEEP

n
110

n100
n96

n
105

n
16

23

n25

120°

8

n8

22

8

8

60°

M2x0.4 - 6H

(3x120deg)

n2 THRU(6x60deg)

n4.0 
-1

.5 
DEEP

M2x0.4 - 6
H

(4x90deg)

M
2x0 . 4 - 6H

(4 x9 0d eg )

n
2 TH

R
U

(6x60deg)

8

4

2.5
1.5

n100

n96

20

2

n4

n2 THRU
M2x0.4 - 6H

18

Displacer cylinder (transparent or opaque plastic)
Keep close to these diameters; if necessary adapt reference
dimensions (plates & sealing rings) to the available material

     Sealing ring (2x)
   Cut from silicone rubber hose
(seal cut-faces with few silicone kit)

Lower plate displacer-cylinder (Alu) Upper plate displacer-cylinder (Alu)

Plate-fixing spacers
        (6xsteel)

5



J. Ridders

Ontw./Design

Get./Drawn
J. Ridders

Beschrijving / Description in:     http://heetgasmodelbouw.ridders.nu

J
R

Units: mm

Format: A4

Scale: no scale

Org. date: Apr-25-2004

Update: Oct-17-2007

Blad/Sheet: 3 van/from 5

Koffiekop Stirling

Coffee cup Stirling

n94

n
8

4

n35

n8

1

3.5

n3.3 THRU

M4x0
.7 - 6

H

n35
n4

1

n5

27

6
9

n6
2

6

7

6

M2x0.4 - 6H n1.5 -2.0 DEEP

n4

n1.
5

1

M2x0.4 - 6g

1.5

0.7

2

4

n20

n12n
8

8

n2(4x90deg)
90.0°

n3.5 -1.5 DEEP

3

5

n6

n3

5
6

n3

n1.5

11
9

9
9

9

n1.9

n2.3

n2.7

n3.1

n3.5

91.0

M
3x

0.
5 

- 
6g

M
4x

0.
7 

- 
6g

Lower displacer flange (Alu)

                       Displacer
(Balsa wood or straight flat polystyrene)

Upper displacer flange (Alu)

Fork for connecting-rod clevis
                    (brass)

n
8 n510

Glide bearing for displacer-axis(bronze)

Connecting-rod clevis (brass)

Body for glide bearing (brass)

Displacer piston rod (steel)

Connection rod - clevis pin (steel)

M3x0.5 - 6H
(9deep)



A-A

J. Ridders

Ontw./Design

Get./Drawn
J. Ridders

Beschrijving / Description in:     http://heetgasmodelbouw.ridders.nu

J
R

Units: mm

Format: A4

Scale: no scale

Org. date: Apr-25-2004

Update: Oct-17-2007

Blad/Sheet: 4 van/from 5

Koffiekop Stirling

Coffee cup Stirling

A

A
7

2

3

0.5

0.5

n100

n
80

n15

n
8

n
5

2.5

n20 n77

n
90

n
3

60°

8diam

6diam

35
20

15

4diam

5

n16

n10n5
1

13

4

4

M
3x

0.
5 

- 6
H

M
3x

0.
5 

- 
6g

n20

n12

n8

n16

n2(4x90deg)

90°

3
M

x0
,5

n3.5 -2.0 DEEP

46

n12 n8

M2.5x0.45 - 6H

3

n
30

n16

n20

n20

n25

n13

n2

13

n
3.5 -1.5 DEEP

2

2

3

5

Holes for balancing the hole sytem mechanically on the spot: balance with 
complete assembled system  but with removed botomplate (!) to avoid 
air-pressure influence. Enlarge the holes gradually untill the flywheel stops
at random positions. Mark the relative position of flywheel to crank shaft.

Fly wheel (Alu)

Body for ball bearings (brass)
       Ball bearings 10x3 / 4 mm (2x)

Stand for body ball bearings (Alu)

Fixing piece for stand (brass) Cylinder for work piston (brass)

Ring for fixing fly wheel to his axis (brass)
 

4

25

n16

*)

*)



J. Ridders

Ontw./Design

Get./Drawn
J. Ridders

Beschrijving / Description in:     http://heetgasmodelbouw.ridders.nu

J
R

Units: mm

Format: A4

Scale: no scale

Org. date: Apr-25-2004

Update: Oct-17-2007

Blad/Sheet: 5 van/from 5

Koffiekop Stirling

Coffee cup Stirling

n13n10

10

8

n2.5 THRU

M3x0.5 - 6H

41

6

M3x0.5 - 6g

n
3

n12

n4

7

12
0

~

n12

n8

n5

n
3

n4

2

8

n14

n3

3n3

5

4

n14

n3

n3

5

n6

n6
n3

n
3

n14
n33

n
3

5

n6

n6

n6

n3

60

n3

n1.5

n3.5

n3.1

n2.7

n2.3

n1.9

2

n1.5 THRU

M
3x

0.
5 

- 
6

g

2

7
3

5

6

1

3.
5

1

M2.5x0.45 - 6
H

n
12

6

M3x0.5 - 6
H

8

3

4

M3x0.5 - 6H 4

3

n3

16

M3x0.5 - 6H

3

4

n3

M
2x0.4 - 6H

8

6n6

n2

1

12345678

1

2

3

46

578

solder

 
angle shift 90 deg

Crank shaft assembly

     Piston
(graphite or steel)

Piston clevis (brass)

Piston connection rod (brass)

Propellor mounting hub
          (brass)

Model airplane
    propellor

Propellor locking nut
           (brass)

Crank shaft
     parts (8)

1

10
10

10
10

10
10

solder 

8

1.
5


